Name: Three digit division - with remainders (Skill 74)
Three digit division (with remainders)

1) 384 +9= 11) 909 + 2 =
2) 977+ 4= 12) 109 + 7 =
3) 454+ 2= 13) 299 + 8 =
4) 656 +2= 14) 366 ~ 2 =
5 211 +2= 15) 122 -6 =
6) 858 +9= 16) 987 + 8 =
7) 315+8= 17) 150 = 6 =
8) 155+ 3= 18) 776 + 7 =
9) 888+2= 19) 112 +5 =
10) 465 + 2 = 20) 864 + 4 =

Answers, fold under: Mark your work when you have finished.

1) 42716 6) 95r3 11) 454 r1 16) 12313
2) 244r1 7) 39r3 12) 15 r4 17) 25 r0
3) 22710 8) 51r2 13) 3713 18) 110 r6
4) 32810 9) 44410 14) 18310 19) 22 r2
5) 105r1 10) 232r1 15) 20 r2 20) 216 r0
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